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�ก��������
� �.
. 2542 �������ก������� �
�  !������ 2 �.
. 2545 
�"�ก#��$"�$%���ก��&�"ก��
�ก�� �
�� 22 ก��&�"ก��
�ก��
�'�(�"���ก%�� )*����($�+ก,$ �
,%� -� ��.���($�*������/$�
$�'��"� ���.0'%��)*����($ �,%� -#�,�	���-+" ��� �
�� 23 ก��&�" 
ก��
�ก��
�'��$�$,%� -#�,�	��2�,%� �*� ,+34��  ก���%$ก�����($�*�����*�3�ก��
� ,%� 
�� ��-  (-#�$�ก��$,3�ก�� ก��ก��
�ก��������
�, 2542: 17-20) ก��&�"ก�����($ก��-'$
�'�
,#�$��.��)*����($�=>$�+,,����
�'���/$�?���ก�"ก�����($�*�
� 
�ก(@���'�
$�'� ก�����($�*��'�
)*����($�=>$)�����ก�"&�ก,%� -� ��.�'�)*����($�������"����&�กก�����($ก��-'$���)- )-�$��2�
-���,%� �*� ,+34��  ,+3��ก�3�'(���- �*�3A - "+�B���-'",��'�ก�����ก-*
��ก$ก���
ก��
�ก����2$�02$C�$ �+�4
�ก��� 2551 (ก����%�
�ก��4�ก��, 2551: 4)  �"�ก���%�%�%�� +����/$�
)*����($�+ก,$B����=>$ก#�����'���
�?���=>$ $+�(A��� �,%� - "+���2�"��$����ก�( ,%� �*� ,+34��   �
&�
-#�$�ก?$,%� �=>$��� 0'���(����=>$��D�ก (�" ��$?$ก��=ก,�'�
� ���'�=����4�=�
(
'�$ ���� ��ก��
��(A����=>$=�� +�  �,%� �*������ก���02$C�$ �% ��2��&
,
� ���&#��=>$
�'
ก��
�ก��
�' ก��=��ก'�'�������ก��
�ก��
�'"��%�
 D"( +���$�$)*����($�=>$-#�,�	�$�02$C�$
,%� ��0�'%���+ก,$-� ��.���($�*���������/$�
$�'��"��
E 
� 
�ก(@��B���-'",��'�ก��
�=F�� �(�'����ก-*
�ก�+� -���ก�����($�*����%��%��(�
�-
�A ������-#�,�	(���?$-��, D�ก
=G&&+��$���'$�,
   
 %��(�
�-
�A�ก��(%��'�ก���+ก,$��2�?$��%�
=��&#�%�$���ก����$'����
��� H 
�'"&$
��,D$D�(� �,�0�'� 0'�,�0�'�?�����)�)��

��� H ��� $+�(A�"�?����0�''#�$%(,%� -�"%ก?$��%�
���
ก���#���$ �����$�2��%$�=>$)��'�,%� �*�%��(�
�-
�A )- )-�$ก��,%� ,�"-����-��,A���

�-
�A'0�$ H %��(�
�-
�A��%(?�� $+�(A�"���/$�%�4�,�" ��2�,%� ,�"�=>$��
+�=>$)� ,�"-����-��,A  
%�&��3A  ���ก��-#�,�	?$ก��,�$,%����,%� �*�  �,%� -� ��.?$ก���ก�=G	��'(����=>$����  
-� ��.
�"-�$?&D"(?����' *�������ก���(��� �=��&�ก�A�(�$���
�%&-'��"� (ก����%� 

�ก��4�ก��, 2551: 1) �=>$%�/$4�� �'�D�ก- �(?� �B����=>$-��, ����ก�����($�*� (knowledge-
based society) "��$�2$�+ก,$&��&#��=>$
�'��"����ก����/$�?���*�%��(�
�-
�A ��0�'���&� �,%� �*�,%� 
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����?&?$4�� ��
������,D$D�(���� $+�(A-����-��,A��2$ -� ��.$#�,%� �*��=?��'(��� ���
+)�  
-����-��,A ��� �,+34��  (ก����%�
�ก��4�ก��, 2551: 3) &�กก��=��� �$,+3@��ก��
�ก���'�
D�����($�'�'(*�$+
ก+� �'�$�ก���($��2$=��. 
�ก��=X��� 6 ?$=Xก��
�ก�� 2552 D"(-#�$�ก��$����'�
 �
�C�$���,+3@��ก��
�ก�� ('�,Aก� ���$) ��%�� �)�ก�����($'(*������'(�� 33.32 B���
�#�ก%��
��"��=����
 �ก� 0�'���(�ก����"��=����
B�����"��=����
ก�+� -���%��(�
�-
�A �,����'(�� 
59.25 B��� �,��$$"��$)*����($  �
�C�$��� 4  
�%�����2��� 3 )*����($ ���ก��ก��,�"-����-��,A���
&�$
$�ก��'(*�?$��"��
�'�=���=�+� ,0'��'(�� 45 �����%��$�ก���($ �)�-� [�4�\���ก�����($           
?$ก�+� -���ก�����($�*�%��(�
�-
�A'(*�?$�ก3]A
�'�=���=�+� ,0'��'(�� 43.33 ���&�ก)�              
ก��=��� �$)�ก�����($�*�ก�+� -���ก�����($�*�%��(�
�-
�A��"��D�����($$�ก���($��2$ �4( 
�ก��         
=X��� 2  �)�-� [�4�\���ก�����($'(*�?$�ก3]A�'?�� ,0'��'(�� 55 (D�����($�'�'(*�$+
ก+�, 2551: 9) 
&�ก=��-�ก��3Aก�����($ก��-'$�'�D�����($�'�'(*�$+
ก+�B����=>$D�����($�$�"��Eก����(�(
D'ก�-���ก��
�ก�� )*�%�&�(�#�ก��-'$'(*���%��$�ก���($-�%$?�	�(��� �ก������&��-"�''ก � �ก���
�-"�,%� ,�"��E$ �����2$��$���?��$�ก���($�#�-�%$?�	�กE&��� 0'$ H ก�$ � � �,%� �=�ก?� � B���
'�&-��)�
�'ก��"#��$�$��%�
�'�$�ก���($?$'$�,
 ,%� �*�����"�&�กก�����($&��$#��=?��?$ก��
��/$�
$�'�?���ก�"=��D(�$A �ก���-+"     
       ก��&�"ก�&ก�� ก�����($ก��-'$%��(�
�-
�A &��,%����&��$�$?��$�ก���($ก���,�" ก���
�-"�''ก ���-� ��.$#�,%� �*��==��(+ก
A?���ก�"=��D(�$A?$��%�
=��&#�%�$ �ก���-+" D"(?��
ก���%$ก�����%��(�
�-
�A�$�$=��-�ก��3A
��?$ก��^_ก��ก��ก���ก�=G	�� B����=>$ก����/$�
ก���%$ก��,�"��2$-*�  �ก���%$ก��,�"���ก���#���$�=>$����D"( �)*�-'$�=>$)*�'#�$%(,%� 
-�"%ก?��)*����($����+�=F�� �(?$ก��-����,%� �*��'�
$�'� B���-'",��'�ก���$%,�",'$-
��, -

�%�B�  (Constructivism) ��0�'%���=>$ก���%$ก����/$����-
�=G		���� )*����($���($�*�"�%(ก��-����
'�,A,%� �*�"�%(
$�'� D"(?��)*� ���($�� 0'=��ก'�ก�&ก�� ก�����($�*�"�%(
$�'���0'�"�
=e�-� ��$4Aก��-����%"��' @�($'ก��� �,%� � �(-� ��.��0�' D(����-�����=>$'�,A,%� �*�?� �
B���(�")*����($�=>$
*$(Aก����'�ก�����($ �=>$)�?���ก�"�[
�ก�� ���^G��$�$ B���&��% .��=e�ก���(�
���%���,%� �*�?$
�%�'�)*����($�'� =��-�ก��3A���-����%"��' @�($'ก(-+��$ ��E����ก�A
,2548:31-34) 
 ก����/$�)�-� [�4�\���ก�����($���,%� ,�"-����-��,A���%��(�
�-
�A�'�$�ก���($ 
-���-�� ?���ก�"��2$�"� D"(ก��&�"ก�&ก�� ก�����($ก��-'$����$�$ก���%$ก����� +��=�*ก^G�,%� �*� 
ก�&ก�� ���-���-�� ,%� ,�"-����-��,A?��ก��$�ก���($ B���ก�&ก�� �#��"����(%�4� ���$ ก��^_กก��
�ก�=G	��'(���-����-��,AD"(?����,$�,��" - '� ก��?��,#�.�  ก��?�������($-#���E&�*= 
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ก�&ก�� 
��=� ���?$ก��&�"ก�����($ก��-'$%��(�
�-
�A .�� �ก��&�"-@��ก�����($ก��-'$���
�'02'?���ก�",%� ,�"-����-��,A���%��(�
�-
�A?��"���2$ D"( �ก��&�"��ก�3�ก�����($ก��-'$
ก��
+�$?��$�ก���($�-"�,%� ,�"��E$'(���'�-�� ('���  ��$4A 3�, 2543: 100) ����3�=e���
�ก��-'$
)*�-'$
�'�-����,%� ��0�' ��$?��ก��$�ก���($��0�'%��$�ก���($�=>$)*� �,%� ,�"-����-��,A -���-�� ?��
$�ก���($-����-��,A)���$�����/$���$�=g"D'ก�-?��$�ก���($�"�=��� �$ก�&ก�� �����/$�
,%� -� ��.D"()*�-'$
�'�=����=���($ก���%$ก��-'$�����0'ก�*=���ก��-'$?���� ��-  
,%����� ,%� -$?&?$ก��^_กก��,�""��$,%� ,�"-����-��,A���%��(�
�-
�A,%�,*��=ก��ก�����($�*�
�$02'�� D"(ก��$#�$%�
ก�� 
��� H ���� ���%(?$ก���ก�=G	��ก��&�"ก�����($�*�  (-#�$�ก��$
,3�ก�� ก��ก��
�ก��������
�, 2545:4) 
 %�4�ก��ก��-'$���%�e&�ก�ก�����($�*� 4 MAT �=>$ก��-'$����$�$)*����($�=>$-#�,�	 �=>$
ก���%$ก�����($ก��-'$���,#�$��.��,%� �
ก
������%����+,,�?$��0�'��*=���ก�����($�*�                 
B���-'",��'�ก��ก���=F�� �(�'�ก��&�"ก��
�ก�����ก���% �����
�$D"()*����($&��"����ก��-���-�� 
?�� �,%� ���)�"�'���� �-�%$��% ?$ก���%$ก��&�"ก�&ก�� ก�����($�*� =e���
� ^_ก��ก�� �$�$?��
)*����($�"�,�"�=>$ �#��=>$ �ก�=G	���=>$ D"(,�*)*�-'$
�'�,#�$��.��,%� �
ก
������%����+,,�
)*����($�+ก,$-� ��.���($�*������/$�
$�'��"��=>$ก��-'$�����0�' D(����%���,%� �
ก
����'�
�*=���ก�����($�*��'�)*����($ก��������'�- '�B�กB��(���- '�B�ก�%�'(���- "+� (������ 
�+�  ��$ ���
�ก"�\��(  $���	�%�, 2542: 12) B����=>$ก���%$ก��-'$���,�"%����%(?��)*����($�ก�"ก�����($�*�
�$02'��
� &+"=��-�,A���ก#��$"�%� ���-��)�?��,��$$ก��-'�%���%��(�
�-
�A�'�$�ก���($��2$
 �4( 
�ก��=X��� 1 �'�D�����($�'�'(*�$+
ก+�-*���2$ D"(ก��$#��-$' 
�%'(��� ��' *� ,%� ,�" ��
+ก��3A 
=��กeก��3A��� ����กก���#�?��)*����($���($'(���-$+ก-$�$-� ��.$#�,%� �*�����"��=?���ก�=G	��
?$��%�
=��&#�%�$B���-��)�?��)*����($�"���/$�,%� -� ��.
� 4�� ��
�����
E 
�ก(@���'�

$�'� (�4�(�  ��$��, 2544: 21) ���-'",��'�ก����$%�&�(�'� ������3  ���(��- ' (2550: 1)  ,#�@�  

������ (2550: 1) ��%��)�-� [�4�\���ก�����($%���%��(�
�-
�A�'�)*����($�����"����ก��-'$
���%�e&�ก�ก�����($�*� 4 MAT -*�ก%�������"����ก��-'$
� =ก
�'(��� �$�(-#�,�	�����"�� .05 
 &�ก��
+)�"��ก���%)*�%�&�( �,%� -$?&���&���/$�)�-� [�4�\���ก�����($���,%� ,�"
-����-��,A���%��(�
�-
�A�'�$�ก���($��2$ �4( 
�ก��=X��� 1 "�%(ก��-'$���%�e&�ก�ก�����($�*�           
4 MAT B���$��&��=>$ก��&�"ก�&ก�� ก�����($�*�'�ก�*=����$������&�-� ��.��/$�,%� ,�"
-����-��,A���%��(�
�-
�A?��$�ก���($ �)�-� [�4�\���ก�����($���-*���2$�=>$�$%���?$ก����/$� 
ก�����($ก��-'$%��(�
�-
�A?���ก�"=��-��4�\@��(�����2$ ����=>$ก#����?$ก����/$�=����
��
�

�'�= 
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��������
�
����ก	��!"�# 
 

1. ��0�'�=��(����(�)�-� [�4�\���ก�����($%���%��(�
�-
�A�'�$�ก���($��2$ �4( 
�ก��
=X��� 1  ก�'$���($����������($���%�e&�ก�ก�����($�*� 4 MAT 

2. ��0�'�=��(����(�,%� ,�"-����-��,A���%��(�
�-
�A�'�$�ก���($��2$ �4( 
�ก��                
=X��� 1 ก�'$���($����������($���%�e&�ก�ก�����($�*� 4 MAT  
 


���!$	�ก	��!"�# 
 
          1. )�-� [�4�\���ก�����($%���%��(�
�-
�A�'�$�ก���($��2$ �4( 
�ก��=X��� 1 �������($ -*�
ก%��ก�'$���($���%�e&�ก�ก�����($�*� 4 MAT 
         2.   ,%� ,�"-����-��,A���%��(�
�-
�A�'�$�ก���($��2$ �4( 
�ก��=X��� 1 �������($-*�
ก%��ก�'$���($���%�e&�ก�ก�����($�*� 4 MAT 
 

���������ก	��!"�# 
 
           1.   ���&	ก����ก��'�����#'	� 
      1.1 ���&	ก� �=>$$�ก���($��2$ �4( 
�ก��=X��� 1 D�����($�(�(D'ก�-���ก��
�ก��
?$'#��@'$��%� -��ก�"-#�$�ก��$��
�02$���ก��
�ก��-������
 3 @�,���($���1 =Xก��
�ก�� 2555
&#�$%$  6 D�����($ ��2�� " 6 ��'� 199  ,$  
                1.2 ก��'�����#'	� ก�+� 
�%'(������?��?$ก��
�ก��,��2�$�2 �=>$$�ก���($��2$ �4( 
�ก��           
=X��� 1 @�,���($��� 1 =Xก��
�ก�� 2555 D�����($�'�'(*�$+
ก+� '#��@'$��%� &���%�"-���� &#�$%$1
��'����($ $�ก���($ 35 ,$ D"(%�4�ก��-+� ���ก�+�  
 
                 2.   ��������)*��	 
                   �$02'�����?��?$ก���"�'�ก��ก�+� 
�%'(����=>$�$02'����0�'�- ��
��'�-�����ก��&#��$ก
-��&�ก�$��-0'-.���$-���-�� ก��-'$%��(�
�-
�A�����,D$D�(�       
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 3.   ������������ 
  3.1  �������,� 
   ก��-'$ ���%�e&�ก�ก�����($�*� 4 MAT   
  3.2  �������	� 
              4.2.1 )�-� [�4�\���ก�����($ 
               4.2.2  ,%� ,�"-����-��,A���%��(�
�-
�A 
                             1) ,%� ,�",��'��,��% 
     2) ,%� ,�"(0"�(+�$ 
                             3) ,%� ,�"������  
                             4) ,%� ,�"���'�("�'' 
 
               4.   ��#����	���.&,.�ก	��!"�# 
  ��(��%�����?��?$ก��
�ก��,��2�$�2"#��$�$ก��?$@�,���($��� 1 =Xก��
�ก�� 2555 D"(?��
�%��-'$ 9 -�="��A -�="��A�� 4 ,�� H �� 60 $��� ��2�-�2$ 36 ,�� 
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ก������
!/���ก	��!"�# 
 
     �������,�       �������	�  
 

 
0	1 1  ก�'��$%,�"?$ก��%�&�( 
 

�!#	�2�1���31	� 
 
      1.   ก��-'$���%�e&�ก�ก�����($�*� 4 MAT � �(.�� ก���%$ก�����($ก��-'$���,#�$��.��
,%� �
ก
������%����+,,�?$��0�'��*=���ก�����($�*� D"(&�"������%��%��ก�����($?���� ��- 
ก���*=���ก�����($�*��'�)*����($?$�
�����0�'� (�"���กก��&�"=��-�ก��3A������ก���( (0"�(+�$
�����0�' D(�ก�$'(���
�'�$0�'���0�'
'�-$'�)*����($�+ก���ก�����($?�� �D'ก�-�"����($�*� �"�=e���
�
ก�&ก�� ���
$�'�����"�=���
�%���($�*�?$���ก�����($'0�$ H "�%( ��� �ก��&�"=��-�ก��3A�����%(
ก��
+�$ก����/$�- '�B�กB��(���B�ก�%���0�'?��- '���2�-'�B�ก ���/$�ก�����- "+� B���=��ก'�"�%( 
8 ��2$
'$"��$�2 

ก	�
�� �����4"�ก�ก	����#��5,��� 4 MAT  
 ���2$
'$ 8  ��2$
'$"��$�2 
��2$��� 1  ��2$-����=��-�ก��3A 
��2$��� 2  ��2$%��,����A=��-�ก��3A 
��2$��� 3  ��2$�*�3�ก��ก��-���ก
�=-*�,%� ,�"

�%�('" 
��2$��� 4  ��2$��/$��[�k����,%� ,�"�%�('" 
��2$��� 5  ��2$=e���
�
� ,%� ,�"�%�('" 
��2$��� 6  ��2$=����
���=>$,%� ,�"�'�
$�'� 
��2$��� 7  ��2$%��,����A��0�'$#��==��(+ก
A?�� 
��2$��� 8  ��2$��ก�=���($,%� �*��'�
$ก��)*�'0�$ 

 

1.  9�
��:�;!<�	�ก	����#� B���%�" 4 ��"��
"��$�2 
     1.1  "��$,%� �*�,%� &#� 
     1.2  "��$,%� ����?& 
     1.3  "��$��ก��ก���%$ก����� 
            %��(�
�-
�A 
     1.4  "��$ก��$#�,%� �*����ก���%$ก�� 
            ���%��(�
�-
�A 
2.  
�	�
!/
�,	�
��
��	��!�#	2	
���  
     B���=��ก'�"�%("��$(�'( 4 "��$(�'( 
     2.1  ,%� ,�",��'��,��% 
     2.2  ,%� ,�"(0"�(+�$ 
     2.3  ,%� ,�"������  
     2.4  ,%� ���'�("�''      
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1) ��2$-����=��-�ก��3A � �(.�� )*�-'$-����=��-�ก��3A"�%(%�4�ก��ก��
+�$
��0'-�������&*�?&?��)*����($-� ��.��0�' D(�=��-�ก��3A�=>$=��-�ก��3A�'�
$�'� 

2) ��2$%��,����A=��-�ก��3A � �(.�� )*�-'$ก��
+�$?��)*����($%��,����A����
+)�
?��)*����($^_ก�#�ก�&ก�� ������ก���("�%(ก���-"�,%� ,�"��E$���'@�=��(��% ก�$ 

3) ��2$�*�3�ก��ก��-���ก
�=-*�,%� ,�"�%�('" � �(.�� )*�-'$�$�$?��)*����($�"�
%��,����A��0�' D(�&�"��������=��(����(�&�"�#�"���'�-���������($ 

4) ��2$��/$��[�k����,%� ,�"�%�('" � �(.�� )*�-'$?��)*����($�"������' *�
��'��E&&��� ,�"%��,����A�
��
�'�&�ก=��-�ก��3A ���$ &�กก��
�ก��?�,%� �*� ก��-�4�
 

5) ��2$=e���
�
� ,%� ,�"�%�('" � �(.�� )*�-'$?��)*����($=e���
�ก�&ก�� �"�'� 
-�+=)�ก���"�'� ก���#����^_ก��" 

6) ��2$=����
�� �=>$,%� ,�"�'�
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